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1. when two monochromatic and coherent light .beams having

intensities /1 and 12 are superimposed, the intensity variation
across the observed fringe pattern is given by:

I = Ir + Iz + ZJTncos d'

where d is the phase difference between the two beams at the
observation plane.

[a) Give a quantitative plot for the variation-of intensity against d.

(b) show that in a young's double slit experiment (assume that
the two slits are identical):

I =  l^cor' (4\
" \LD/

where the symbols have their usual meaning and d is the slit
separation, D is the distance between the slits and the screen and

x is the distance to any given fringe from the central fringe.
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